# **Tabulation Of Bids**

Event # : 117

Version: 4

Name: WELDING TRUCK BODY UPFITS

Reference: 5036

Description: PURCHASE AND INSTALLATION OF WELDING TRUCK UPFITTINGS

TERM: 250 Calendar Days from NTP

Open Date: 12/17/2024 08:00:00 AM

Close Date: 01/24/2025 08:15:00 AM

Event Currency: USD

Supplier	Bid Amount
SOUTHWEST WHEEL	220,764.00
343 GEMBLER ROAD SAN ANTONIO, TX 78219	
COBALT TRUCK SPECIALIST	221,610.00
345 W. KARCHER NAMPA, ID 83687	
AUTO XTRAS, INC	185,481.00
1150 ARION PARKWAY SAN ANTONIO, TX 78216	

#### Items

#### Item: DOUGLASS CUSTOM WELDING TRUCK BO

**Description:** DOUGLASS CUSTOM WELDING TRUCK BODY

**Long Item** Douglass Custom Welding Truck Body, Side-Mount, 9-foot, or approved equal. **Description:** 

TERM: 250 Calendar Days after Notice to Proceed

Unit of EA Quantity: 3.0000

Measure:

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	43,400.000	130,200.00
COBALT TRUCK SPECIALIST	3.0000	32,070.000	96,210.00
AUTO XTRAS, INC	3.0000	29,999.000	89,997.00

#### Item: INSTALL WELDING TRUCK BODY

Description: INSTALL WELDING TRUCK BODY

**Long Item** Install Welding Truck Body onto new truck. Includes lights, mud flaps, fuel spout, rear work platform, and rear **Description:** frame extension.

Includes installation of all items required to make the welding truck upfit complete and ready for operation.

Unit of EA	Quantity: 3.0000
Measure:	

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	3,000.000	9,000.00
COBALT TRUCK SPECIALIST	3.0000	3,930.000	11,790.00
AUTO XTRAS, INC	3.0000	650.000	1,950.00

## Item: AIR HOSE REEL Description: AIR HOSE REEL W/ 1/2" x 50 FOOT HOSE Long Item Air hose reel with ½-inch x 50-foot hose, spring rewind reel, installed. Description:

Unit of EA Quantity: 3.0000 Measure:	
---	--

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	750.000	2,250.00
COBALT TRUCK SPECIALIST	3.0000	1,175.000	3,525.00
AUTO XTRAS, INC	3.0000	979.000	2,937.00

# Item: OXYGEN/ACETYLENE REEL Description: OXYGEN/ACETYLENE REEL Long Item Oxygen/Acetylene reel with ¼-inch x 50-foot hoses, installed. Description: Unit of EA Measure:

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	1,500.000	4,500.00
COBALT TRUCK SPECIALIST	3.0000	1,180.000	3,540.00
AUTO XTRAS, INC	3.0000	1,109.000	3,327.00

#### Item: ECCO LED DIRECTIONAL WARNING LIG

Description: ECCO LED DIRECTIONAL WARNING LIGHT

Long Item ECCO LED Directional Warning Light, Amber Lens, seven (7) Flash Patterns, Model 3811A, installed. Multi-strobe Description: system, four (4) ECCO 3811A strobe lights installed, two (2) installed in the front and two (2) rear bumper face area.

Unit of EA	Quantity: 3.0000
Measure:	

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	730.000	2,190.00
COBALT TRUCK SPECIALIST	3.0000	1,575.000	4,725.00
AUTO XTRAS, INC	3.0000	596.000	1,788.00

# Item: SPEED LINER 1000 BLACK

#### Description: SPEED LINER 1000 BLACK

**Long Item** Apply and install Speed Liner 1000 Black: rear bumper, cargo area and taillight, and cargo area sides. **Description:** 

Unit of EA Measure:	Quantity: 3.0000	

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	1,500.000	4,500.00
COBALT TRUCK SPECIALIST	3.0000	1,820.000	5,460.00
AUTO XTRAS, INC	3.0000	850.000	2,550.00

#### Item: AIR COMPRESSOR VANAIR PRO35

Description: AIR COMPRESSOR VANAIR PRO35

**Long Item** Air Compressor, Vanair Pro35 (skid mounting unit), 35 cfm at 100 psi or approved equal, installed. **Description:** 

Unit of EA Quantity: 3.0000 Measure:

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	7,380.000	22,140.00
COBALT TRUCK SPECIALIST	3.0000	5,400.000	16,200.00
AUTO XTRAS, INC	3.0000	6,879.000	20,637.00

## Item: AIR COMPRESSOR ENGINE IGNITION

Description: AIR COMPRESSOR ENGINE IGNITION

**Long Item** Remote mount Air Compressor engine ignition and choke; ignition switch to be relocated from side of engine; **Description:** choke cable to be mounted on ignition mounting bracket or approved equal.

Unit of EA Measure:	<b>Quantity:</b> 3.0000		
	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	500.000	1,500.00

SOUTHWEST WHEEL	3.0000	500.000	1,500.00
COBALT TRUCK SPECIALIST	3.0000	1,035.000	3,105.00
AUTO XTRAS, INC	3.0000	550.000	1,650.00

# Item: UNDERBODY AIR TANK 10 GALLON

Description: UNDERBODY AIR TANK 10 GALLON

**Long Item** Underbody air tank, 10-gallon air tank for air compressor or approved equal, installed. **Description:** 

Unit of EA	Quantity: 3.0000
Measure:	

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	300.000	900.00
COBALT TRUCK SPECIALIST	3.0000	2,130.000	6,390.00
AUTO XTRAS, INC	3.0000	849.000	2,547.00

## Item: DIESEL EXHAUST PIPE EXTENSION

Description: DIESEL EXHAUST PIPE EXTENSION

**Long Item** Diesel exhaust pipe extension, installed. Bring exhaust pipe out beyond the body. **Description:** 

Unit of EA Measure: Quantity: 3.0000

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	1,000.000	3,000.00

	Quantity	Unit Price	Extended Amount
COBALT TRUCK SPECIALIST	3.0000	405.000	1,215.00
AUTO XTRAS, INC	3.0000	225.000	675.00

#### Item: DIESEL EXHAUST PIPE EXTENSION

Description: UREA POCKET AND FILL SPOUT, INSTALLED Long Item UREA POCKET AND FILL SPOUT, INSTALLED **Description:** Unit of EA

Measure:

Quantity:	3.0000

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	250.000	750.00
COBALT TRUCK SPECIALIST	3.0000	200.000	600.00
AUTO XTRAS, INC	3.0000	200.000	600.00

# Item: AIR DRYER FLTR, LUBER, REGULATOR

Description: AIR DRYER FLTR, LUBER, REGULATOR

Long Item Air dryer filter, luber, and regulator with pressure gauge; installed. **Description:** 

Unit of EA Quantity: 3.0000 Measure:

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	1,000.000	3,000.00
COBALT TRUCK SPECIALIST	3.0000	1,090.000	3,270.00
AUTO XTRAS, INC	3.0000	309.000	927.00

## Item: ECCO MODEL 121940 54" LIGHT BAR

Description: ECCO MODEL 121940 54" LIGHT BAR

Long Item ECCO Model 121940, low pro style light bar, 54" Amber/Blue LEDs with special flash patterns, mounted on chassis Description: roof, Approval - SAE Class I; installed.

Unit of EA Quantity: 3.0000 Measure:

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	1,500.000	4,500.00
COBALT TRUCK SPECIALIST	3.0000	4,430.000	13,290.00

#### Tabulation Of Bids For Event # 117: WELDING TRUCK BODY UPFITS

	Quantity	Unit Price	Extended Amount
AUTO XTRAS, INC	3.0000	3,399.000	10,197.00

#### Item: ECCO MODEL EZ0000 UNIV CNTROLLER

Description: ECCO MODEL EZ0000 UNIV CNTROLLER

**Long Item** ECCO Model EZ0000 universal controller, switch box for light bar. Installed in chassis cab, lower dash. **Description:** 

Unit of EA Quantity: 3.0000 Measure:

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	305.000	915.00
COBALT TRUCK SPECIALIST	3.0000	605.000	1,815.00
AUTO XTRAS, INC	3.0000	189.000	567.00

## Item: INSTALL MILLER BOBCAT WELDER

Description: INSTALL MILLER BOBCAT WELDER

Long Item Install VIA supplied Miller Bobcat 260 AC/DC Welder onto new truck bed. Include new flatbar mounting plates Description: welded to body. Welder shall be mounted on curbside compartment. Install new Vanair AntiZap circuit surge protector, or approved equal, onto welder. Remove welder from VIA welder truck.

Unit of EA	Quantity: 3.0000
Measure:	

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	1,000.000	3,000.00
COBALT TRUCK SPECIALIST	3.0000	1,910.000	5,730.00
AUTO XTRAS, INC	3.0000	1,869.000	5,607.00

#### Item: INSTALL WELDER LEADS MNTNG RACK

Description: INSTALL WELDER LEADS MNTNG RACK

 ${\bf Long\ Item\ }$  Install VIA supplied welder leads mounting rack with leads.  ${\bf Description:}$ 

Unit of EA Measure: Quantity: 3.0000

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	500.000	1,500.00
COBALT TRUCK SPECIALIST	3.0000	500.000	1,500.00

#### Tabulation Of Bids For Event # 117: WELDING TRUCK BODY UPFITS

	Quantity	Unit Price	Extended Amount
AUTO XTRAS, INC	3.0000	100.000	300.00

#### Item: FORD F350 HEAVY DUTY REAR SPRING

Description: FORD F350 HEAVY DUTY REAR SPRING

**Long Item** Ford F350 Heavy Duty Rear Spring Work: Chassis to be leveled, add 1" block - street side, add 2" block - curb side, **Description:** four (4) U-bolts with hardware. Level chassis, as required or approved equal.

Unit of EA Quantity: 3.0000 Measure:

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	1,500.000	4,500.00
COBALT TRUCK SPECIALIST	3.0000	1,075.000	3,225.00
AUTO XTRAS, INC	3.0000	1,599.000	4,797.00

#### Item: INSTALL FORD BACKUP CAMERA

Description: INSTALL FORD BACKUP CAMERA

**Long Item** Install Ford Factory Backup Camera. **Description:** 

Unit of EA Quantity: 3.0000 Measure:

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	200.000	600.00
COBALT TRUCK SPECIALIST	3.0000	425.000	1,275.00
AUTO XTRAS, INC	3.0000	200.000	600.00

#### Item: SAMLEX 2,000 WATT CONVERTER

#### Description: SAMLEX 2,000 WATT CONVERTER

**Long Item** Samlex 2,000-watt inverter, or approved equal, installed in LH compartment, 2,000-watt output power, pure sine **Description:** wave, temperature-controlled cooling fan.

Unit of EA Quantity: 3.0000 Measure:

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	2,000.000	6,000.00
COBALT TRUCK SPECIALIST	3.0000	2,880.000	8,640.00
AUTO XTRAS, INC	3.0000	1,434.000	4,302.00

## Item: ELECTRICAL POWER STRIP

Description: ELECTRICAL POWER STRIP

**Long Item** Electrical power strip, installed, minimum five (5) 110-volt plugs, built-in surge protection, installed next to power **Description:** inverter, or approved equal.

Unit of EA Quantity: 3.0000 Measure:

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	100.000	300.00
COBALT TRUCK SPECIALIST	3.0000	75.000	225.00
AUTO XTRAS, INC	3.0000	95.000	285.00

## Item: DOUGLASS BODY SHOVEL HOLDER

Description: DOUGLASS BODY SHOVEL HOLDER

**Long Item** Douglass Body Shovel Holder for three (3) shovels or approved equal. Install on body wall. **Description:** 

Unit of EA Measure: Quantity: 3.0000

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	650.000	1,950.00
COBALT TRUCK SPECIALIST	3.0000	645.000	1,935.00
AUTO XTRAS, INC	3.0000	709.000	2,127.00

## Item: DOUGLASS BODY ROLL-OUT MECH DWRS

Description: DOUGLASS BODY ROLL-OUT MECH DWRS

**Long Item** Douglass Body Ladder Rack Assembly, or approved equal, installed, forklift loadable and painted White. **Description:** 

Unit of EA	Quantity: 3.0000
Measure:	

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	598.000	1,794.00
COBALT TRUCK SPECIALIST	3.0000	1,460.000	4,380.00
AUTO XTRAS, INC	3.0000	1,140.000	3,420.00

# Item: DOUGLASS BODY EQUIPTO TRAYS

#### Description: DOUGLASS BODY EQUIPTO TRAYS

**Long Item** Douglass Body Equipto Trays for curbside horizonal compartment or approved equal. Equipto fastener trays for **Description:** small item storage, notched for dividers.

Unit of EA Measure:	<b>Quantity:</b> 3.0000	

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	500.000	1,500.00
COBALT TRUCK SPECIALIST	3.0000	1,465.000	4,395.00
AUTO XTRAS, INC	3.0000	1,809.000	5,427.00

#### Item: DOUGLASS BODY LADDER RACK ASMBLY

Description: DOUGLASS BODY LADDER RACK ASMBLY Description 2: DOUGLASS BODY LADDER RACK ASMBLY

**Long Item** Douglass Body Ladder Rack Assembly, or approved equal, installed, forklift loadable and painted White. **Description:** 

Unit of EA Measure: Quantity: 3.0000

	Quantity	Unit Price	Extended Amount
SOUTHWEST WHEEL	3.0000	3,425.000	10,275.00
COBALT TRUCK SPECIALIST	3.0000	6,390.000	19,170.00
AUTO XTRAS, INC	3.0000	6,089.000	18,267.00